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Which of the variety of coal has highest proportion of carbon?

Options:
4 +« Anthracite
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Correct Marks: 1 Wrong Marks: 0.33

Which of the following statements 1s/are true about solar cell?
a. Solar cell converts solar energy into electricity.
b. These are made up of semiconducting materials such as silicon and gallm.

¢. This is conventional source of electricity.

Options:
5  Bothaandb
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Major component of biogas 1s-
Options:

= « Methane
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The energy stored mn fossil fuel 1s-
Options:
5 Chemical energy
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Butane and propane are major constituents of-
Options:

1« LPG
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The heat 1n solar radiation 1s due to-
Options:

1 « Infra-red radiation
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In a biogas plant. which of the following 1s not needed at all?

Options:
5 o OXygZen
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The fuel having the lowest calorific value among the following is-
Options:
= « Charcoal

Question Number : 8 Question Id : 47163920480 Question Type: MCQ Option Shuffling : Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.33

& 306 Qocarees” 55" €9E5[08Y B4 3 oe5°Bs T 00007

Options:
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Correct Marks: 1 Wrong Marks: 0.33

Which of the statement 1s /are not true about hydrogen fuel?
a. Hydrogen fuel 15 a zero emission fuel when burned with oxygen.
b. It is environment friendly.

¢. Hydrogen. when consumed in fuel cell, produces only alcohol.
Options:
z Only ¢
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Which of the statement is/ are true about mangal turbine?
a. Mangal turbine is unique, ecofriendly. efficient and pollution free turbine pump.
b. It has Indian patent for its uniqueness.
¢. Mangal turbine can be used to hamess the energy of flowing water to lift water for irrigation purposes.

Options:
i All of these
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The stored form of polysaccharide in plants and amimals respectively-
Options:

L Starch and glycogen
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.33
Chlorophyll a reflects —— and contributes to the observed green colour of most of the plant.

Options:
5  Green- yellow light
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Match the following with the help of suitable codes given below.

A B
a. Chemosynthetic autotrophs 1. cuscuta
b. Parasitic 2. fung1
¢. Saprophytic 3. lichen
d. Symbiotic 4. won, hydrogen and Sulphur bacteria

Options:

1;?3_4 b-1 e¢2 d-3
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Correct Marks: 1 Wrong Marks: 0.33
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Which of the following statements 1s/ are not true about anaerobic respiration?
a. In yeast, anaerobic respiration takes place.
b. The anaerobic respiration in yeast cells results in aleohol. carbon di oxide and energy.
¢. Anaerobic respiration takes place m muscle during any kind of strenuous activity results in the production of
glycogen and energy.

Options:
= o onlyc
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Question Number : 15 Question Id : 47163920487 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
The correct pathway of inhaled air in respiratory tract-

Options:



1, W
Nasal cavity-pharynx-trachea-primary bronchi-secondary bronchi-tertiary bronchi-branchioles-alveoli
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Correct Marks: 1 Wrong Marks: 0.33
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Which of the following statements 1s/are true about exeretion in human beings?

a. Excretion 1s the removal of nitrogenous waste from the body.
b. The opening of urinary bladder 1s called urethra.

¢. The tunctional unit of kidney is called glomerulus.

Options:
| « Bothaandb
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Match the following using suitable codes.

A B

[

a. Auxin

b. Gibberllins

. promote cell division

| ]

. wilting of leaves/stomatal closure

¢. Cytokinins 3. responsible for phototropism and geotropism in plants
d. Abscissic acid 4, help n stem growth

Options:

5 a-3 b4 c1 d-2
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Which of the following statements 1s/are true about hormones?

a. Hormones are released into and reach the target through blood.

b. The male gonads secretes oxytocin.

L]

The parathyroid gland secretes paratharmone which regulate caleium metabolism.
d. Pineal gland secrets the hormone melatonin and it also functions as biological clock.

Options:
1« a.candd
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Match the following with given suitable codes.

A B

[

a. Oxytocin . fight hormone

b. Progesterone 2. male hormone

¢. Adrenalin 3. birth hormone

d. Testosterone 4. pregnancy hormone
Options:

,a3 b4 c¢1 d-2
1. W
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Which of the statement 1s/are false about human brain?
a. the human bram 1s the central organ of the human nervous system.
b. Medulla oblongata 1s the largest part of brain.
¢. cerebellum plays an important role in motor control.

Options:

i Only b
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Correct Marks: 1 Wrong Marks: 0.33
QPR DWEED MHbo) & 306 DELD / DELDeET DO S0y?

o) SPRHD PG aéagesﬁ 2DGE Sod evoiio
D) WECIES” DT LETOMT 9D 9ADE 2P0

2) Drerd Dobogseaes” BB 9D Sos ey D0d

Options:

5 o D OrgD

Question Number : 21 Question Id : 47163920493 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Which of the statement 1s/ are true about human heart?
a. Human heart 1s divided into four chambers.
b. Sinoatrial node is called the heart’s natural pace maker.
¢. The normal blood pressure of heart 1s systolic pressure/diastolic pressure which 1s 80/120 mm Heg.

Options:
o o Bothaandb
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Water and minerals are transported from roots to upper plant parts through-
Options:

> o Xylem vessels

Question Number : 22 Question Id : 47163920494 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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In D.N.A. the pyrimidines are and

Options:
=  Thymine, cytosine
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After fertilization. secondary nucleus converts into-

Options:

— endosperm

Question Number : 24 Question Id : 47163920496 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 1 Wrong Marks: 0.33
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Correct Marks: 1 Wrong Marks: 0.33
Who has given the idea of survival of the fittest?

Options:
z  Darwin
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A toxic gas. responsible for the smell of burnt matches, and released naturally by voleanic activity 1s-

Options:

v Sulphur di oxide
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Correct Marks: 1 Wrong Marks: 0.33
The king of chemicals 1s-

Options:
5 « Sulphuric acid
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Correct Marks: 1 Wrong Marks: 0.33
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The element found in free- state in nature 1s-
Options:

- o gold
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Correct Marks: 1 Wrong Marks: 0.33
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Match the following using the suitable code.

A B
a. Ashwagandha 1. Ricinus communis
b. Castor 2. Trigonella foenum- graccum
¢. Fenugreek 3. Eclipta prostrate
d. Bhringraj 4. Withania somnifera

Options:
iwad b1 €2 d3
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
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Question Number : 30 Question Id : 47163920502 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
Acid rain is caused by the emission of-
Options:

Sulfur di oxide and nitrogen oxide
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Green lungs are associated with-
Options:

5 « Forests

Question Number : 31 Question Id : 47163920503 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
B ©0ofiy 3 & 30857865 2,5 DoeIoGo Eotod.

Options:

» @ OEDED

Question Number : 32 Question Id : 47163920504 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.33
World environment day 1s celebrated on-

Options:
> o 5 June
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21 march 1s celebrated as-
Options:

=  World forestry day

Question Number : 33 Question Id : 47163920505 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Question Number : 34 Question Id : 47163920506 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
Which of the following 1s secondary pollutant?
Options:

4  Peroxy acetyl nitrate
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Correct Marks: 1 Wrong Marks: 0.33
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

The biodegradable pollutant among the following 1s-
Options:

4 « Leather

Question Number : 35 Question Id : 47163920507 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 1 Wrong Marks: 0.33
Commonly known Indian ginseng 1s-

Options:

i Withania sommifera

Question Number : 36 Question Id : 47163920508 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 1 Wrong Marks: 0.33
The micro organism contaminating the Ganga water 1s-
Options:

4 « Coliform bacteria

Question Number : 37 Question Id : 47163920509 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33



corraerdy stenhgo S W) 2en (F e96do) IB?

Options:

- sedIran eraboise
4. ¢ =

Question Number : 38 Question Id : 47163920510 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
The 3 R's used to save the environment 1s-
Options:

w Reduce, recycle, reuse

Question Number : 38 Question Id : 47163920510 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.33
DTYDOEPDY SerE SPED €96 e D)7

Options:

 DEgR, 038, bord
1.

Question Number : 39 Question Id : 47163920511 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

The increasing concentration of substance. such as a toxic chemical. in the tissue of tolerant
organisms at successively higher levels in a food chain-

Options:

- « Bilo-magnification

Question Number : 39 Question Id : 47163920511 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
Dy OFPaTED eotds) SaorT ;}ﬁjbsogﬂcmﬁs EPODY 3GIRAY OV, e'i'}mlrj&)ej"

DOV D0 E00TT 099 e5aF00e5” Lot angjagvmejﬁ 030550 DaotIe?

Options:

o .
i £I03T° — mﬁlq:aéqé

Question Number : 40 Question Id : 47163920512 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

Ozone layer of atmosphere absorbs-



Options:

2 o U. V.rays

Question Number : 40 Question Id : 47163920512 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
TEFH0E0e5D) LHE'D 6 By Dofdarnod?

Options:

od.5). SOEFEeRD
=9 4

Question Number : 41 Question Id : 47163920513 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
Establishment of a forest in an area where there was no previous tree cover is called-
Options:

sl Afforestation

Question Number : 41 Question Id : 47163920513 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
(563065 De0D BLSD T8 EPNO DOEPY JoLP?

Options:
i J&qu&

Question Number : 42 Question Id : 47163920514 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
The highly poisonous alkaloids strychnine and brucine of nux vomica is derived from the plant part-

Options:
> « Seed

Question Number : 42 Question Id : 47163920514 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

D5y TS )0 DNPOSTD €98 e700E ) PBY O DBOIL EPRD A0 D g E5°D
=) 2o ADod) Do(falPa .

Options:
o> o ;JE_:?F:}D



Question Number : 43 Question Id : 47163920515 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
“Chipko movement” was basically against-

Options:
= « Deforestation

Question Number : 43 Question Id : 47163920515 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
DY), 6500 DO BIS D50 —

Options:

i DL HDIDS (L0RND)

Question Number : 44 Question Id : 47163920516 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

Which of the following statements is/are not true about sun?
a. The sun is the star at the center of the solar system.
b. The mner most layer of sun’s atmosphere 1s called core.
¢. The nuclear fission of hydrogen 1s the source of energy in the sun.

Options:
5  Onlyc

Question Number : 44 Question Id : 47163920516 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
QARARE (DB0L) & 308 2 DI / HELDED DOSTE?
D) O DGO S0E065" €08 DGO APWFED.
D) APARE TR0 9S50 5D TFo 6 e90erdd.
N) ERS Mg, argonsd DIy Arayts” 338 aureo.

Options:
o
5 o O OPGRD

Question Number : 45 Question Id : 47163920517 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

Orion 1s a-

Options:



1 Constellation

Question Number : 45 Question Id : 47163920517 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
£,60000 e9b —

Options:

REG oo (5P RTNR)
1.9

Question Number : 46 Question Id : 47163920518 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

Which of the following statements is/are true about geostationary satellite?
a. Geostationary satellite appears to be stationary at fixed point relative to the carth.
b. The period of revolution of geostationary satellite 1s 48 hours.
¢. A geostationary satellite is used for communication purposes. television broadcasting and weather forecasting.

Options:
> « bothaandc

Question Number : 46 Question Id : 47163920518 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.33

20IrRRR0 TOTe), D0210B0) & F0HTOS” I HELD/DELDLL TD0?
D) 20IrRN0 TOOE B3 VoL 2 fgﬁéﬂ@oéﬁ 00D DDA,
D) 203 PNH0 TS HBT aaido 48 (fotrew

D) 203 PORO FOTEN), B.D. PITED TTHCH VATD00 0do0 ol

PDATFTO Honed DOTD0 EHDABTHI.

Options:

5 o o Doy

Question Number : 47 Question Id : 47163920519 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
Which of the following pair is not properly matched?
Options:

o~ The slowest moving planet of solar system — Mars

Question Number : 47 Question Id : 47163920519 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.33
& SoHaetdeS” DA BT @ddoibeceicn?
Options:

%“d&fl@&‘)“&:neﬁs 2983 By D Do ABT (1o — a6y
4 <

Question Number : 48 Question Id : 47163920520 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

Which of the following 1s an artificial <atellite?

Options:
1 + DBhaskara

Question Number : 48 Question Id : 47163920520 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
& 306 765" &R (Jaro DH?

Options:

23°0) 0
1 A b

Question Number : 49 Question Id : 47163920521 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
At which temperature. Water 1s most dense?

Options:
> w4C

Question Number : 49 Question Id : 47163920521 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
) egﬁg@ alale DD 23508 DY T (E0) eDoenod?

Options:
2 ¥ 4%

Question Number : 50 Question Id : 47163920522 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
Natural gas 1s a mixture of gases and contains mamly-

Options:
, Methane and higher hydro- carbons



Question Number : 50 Question Id : 47163920522 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

RETE 0T 900 TRHRDe VD) o, e90ceS” DEEHOT Noid —

Options:

BD 2B DL OIP0 TPE TN

Question Number : 51 Question Id : 47163920523 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
If sum of five whole numbers 1s 146. then the minmimum value of the largest number of these 1s:

Options:
3. ¢ 30

Question Number : 51 Question Id : 47163920523 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
2 rg (whole) Doge dgo 146 e900@ &3 Do e5°) ey 0@ Doay (largest number)

D0E), 51 (minimum) Dews (value).

Options:
2 & 30

Question Number : 52 Question Id : 47163920524 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
If m and n are distinet integers, both divisible by 5, then which of the following may not be true?

Options:
5 @ MTNIs divisible by 10

Question Number : 52 Question Id : 47163920524 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
m, n ex Boc ;56511) s2PQ WoDIED (distinct integers), Socodar 5 & h%bfqom 2rfoDeCIND,

e200@ & S0H artded” DA Dadw 5ot (not true)?

Options:
2 o M+ N0 10 &rAob.

Question Number : 53 Question Id : 47163920525 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33



5+2+/2
7+443

If = a + b3, where a. b are integers, then
Options:
, ¢ a=1Lb=-6

Question Number : 53 Question Id : 47163920525 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
54243
74443

= a + by3, 2ubodw a, b en QPG Dofen 008 9INE

Options:
B aras s =0

Question Number : 54 Question Id : 47163920526 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
A rational number between V2 and /3 is:

Options:
3

g
=34

Question Number : 54 Question Id : 47163920526 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
V2 a0dain V3 e QDG AR e95 000 ~oay (rational number) —
Options:

3
o ¥ 2

Question Number : 55 Question Id : 47163920527 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
Value of (256) *1® X (256) %0 is -

Options:
1.¢ 4

Question Number : 55 Question Id : 47163920527 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
(256) *° X (256) ** aawg), Dewad

Options:



i, W

Question Number : 56 Question Id : 47163920528 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

o '
W3+ 2 va—y2 3 T
If x = —— and y = —, then the value of x” +y" 1s:
Y3— 42 Va3+ 2 ki
Options:
3 o 970

Question Number : 56 Question Id : 47163920528 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

_ WIn2 W3z = 3 3 ; :

ST awboin y = ez DON2 X+ Y aIng), a0 e9)E000).
Options:
z o 970

Question Number : 57 Question Id : 47163920529 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

A certamn sum of money 1in three years becomes twice on compound mterest.
In how many years it will be 8 times?

Options:
1.9 9

Question Number : 57 Question Id : 47163920529 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
o8 Hed oo dwgaw (Sum of money) aurc DodaCanees” oy (twice) 0.

26 DI DoBGDOS” 8 TEw e ?

Options:
1.4 9

Question Number : 58 Question Id : 47163920530 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

The least number, which when divided by first five prime numbers leaves the remainder 1. 1s:

Options:
5 2311



Question Number : 58 Question Id : 47163920530 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
2068 Do oD (Prime) Doaged @R 3000 (remainder) 1 Sy DD

£95%3 {T;r‘;l (least) SLER

Options:

o o 2311

Question Number : 59 Question Id : 47163920531 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
On solving the equation logs [ loga(logst)] = 1. the value of t 1s:

Options:
4 o 6561

Question Number : 59 Question Id : 47163920531 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
log, [ log.(log,t)] = 1, 50 >&oome ey T AI0g) Dend

Options:
4 o 6561

Question Number : 60 Question Id : 47163920532 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
a+bh loga logh .
TR Sl 15:
2 2

If a* + b* = 7ab, then the value of log

Options:

1.« 0

Question Number : 60 Question Id : 47163920532 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

: +b 1 logb
a2 + b? = 7ab @00 log 33 = ngﬂ - 28

03:1355 )20

Options:

1.¢ 0

Question Number : 61 Question Id : 47163920533 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

If A and B are two sets such that n(A)=a. n(B)=b., andn (A N B) = C then n(A U B) 1s equal to:



Options:

5 a+b-c

Question Number : 61 Question Id : 47163920533 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
A 208001 B e Ddnedoen n(A)=a, n(B)=b s0daiw n (AN B) = C echibren eo3 n(AU B)

9000 £ RaaTm a0,

Options:
5 o 8+b-C

Question Number : 62 Question Id : 47163920534 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.33
HCFofx*-y2 x* + Y and x* + ¥ is:

Options:

k. A

Question Number : 62 Question Id : 47163920534 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

-y X Yo X + Y o ang), (189 &yt sorosan (HCF) e9:07E3008).

Options:
o o XK1Y

Question Number : 63 Question Id : 47163920535 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

ICMofx—y, x+vy, x*+y and x*+v* is:

Options:

B
g T )

Question Number : 63 Question Id : 47163920535 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

XY, X+, X2+ y2 ofain X'+ y* o 8233 Jrarmdy roegdaawn (LCM) e9aNEN0A.
Options:
i il
S0 Ay

Question Number : 64 Question Id : 47163920536 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.33

i : . 1 . - :
Given that one of the zeroes of the cubic polynomial x* + ax*+bx+c is -1.the product of other two zeroes is:

Options:
1. % b-atl

Question Number : 64 Question Id : 47163920536 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

x* + ax“+bx+c €950 20 eaond (cubic polynomial) a3ng); 28 3o (zero) (-1) 0B HABD

Ooc 3arjSane (zeros) GB0%), O8O0 (product) a0,

Options:
1 b-a+1

Question Number : 65 Question Id : 47163920537 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
The area of a rectangular field is 2000 m® and its perimeter is 180m. Its length and breadth are respectively:

Options:
5 of 50m. 40m

Question Number : 65 Question Id : 47163920537 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
28 B¢ wausds soaw (rectangular) Foaxn CIng), PFOFA0 2000 SE0) DO, B0 D7) D

Ewe (perimeter) 180 2. 90058 ) G0, T (length) 208050 DEeED

(breadth) savotr
Options:
5> « 20m, 40m

Question Number : 66 Question Id : 47163920538 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

Two Squares have sides p cm and (p+5) em. The sum of their areas 1s 625 cm”. Their sides are:

Options:

15 .
= 15m. 20m

Question Number : 66 Question Id : 47163920538 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33



Gocty ©e0Raw (Sguares) o ding) e b 20.20; &80l (p+5) Do.an. T PFreriw ango 625

DEOR) o) DD, T L), PoBden

Options:
15 e, 20 SHoexdd
3 = "

Question Number : 67 Question Id : 47163920539 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

G . 1 1 1 :
i - - &

On sumphfication — ot g T m oy s cqualto:

Options:

3¢ 1

Question Number : 67 Question Id : 47163920539 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

fur, é.l . 1 l ‘T‘ L
APERO00T s Y Trmaand T pagpmagpoi 00 S0 RaarEado.
Options:

3¢ 1

Question Number : 68 Question Id : 47163920540 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

If the numerator of a fraction is increased by 2 and denominator by 1. it becomes 1.

Again if numerator 1s decreased by 4 and denominator by 2 1t becomes T The fraction 1s:

Options:

0| =

o o

Question Number : 68 Question Id : 47163920540 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
28 DAY D0 TG, VDO (numerator) 2 266, oo (denominator) 10883, o=l Dend 1 eadnaood.

2000 (again) ©do 4 S8 2B BFCAN 2 BHB T Dend — BB, & DH) AV
Options:

7
- o 8

Question Number : 69 Question Id : 47163920541 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

The zeros of the polynomial x*+99x+127 are:



Options:

o  both negative

Question Number : 69 Question Id : 47163920541 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
X*+99%+127 Gng), Hrdg0men (Zeros)

Options:
5 of OotiaaT® 210003 “’n:majém

Question Number : 70 Question Id : 47163920542 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

SinZA =2 Sin A 1s true when A is equal to:

Options:
1.« 0°

Question Number : 70 Question Id : 47163920542 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
A= es00@ SinZA = 2 Sin A @208 dadw (true)

Options:
e i

Question Number : 71 Question Id : 47163920543 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
(1+tan @ + Sec 8) (1 + Cot 8 —Cosec 8) is equal to:

Options:
3¢ 2

Question Number : 71 Question Id : 47163920543 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

(1+ tan® + Sec 8) (1+ Cot 8 —Cosec ) = e9a)00
Options:

3¢ 2

Question Number : 72 Question Id : 47163920544 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33



The number of values of 8 satisfying the equation 25in’8 + 3Sin6 + 1= 0in[o,2n] is

Options:
2. ¢ 3

Question Number : 72 Question Id : 47163920544 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

[0, 2r] & 25in20 + 3Sinf + 1 = 0 e FGEJJ;W:);.L 2y (satisfy) Doc § a3og) Dewsd (value)
Options:

g

Question Number : 73 Question Id : 47163920545 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

. o ; i . Cos8 : Cosf i
The value of 8 when 0° < 8 < 80° satisfying the equation + =2 1s:
= Cosecf+1 Cosecf—1
Options:
> of 457

Question Number : 73 Question Id : 47163920545 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
Cosf & Cos@d
CosecB+1 Cosecf—1

= 2 e93) ReangOea (equation) & Dogha) DM 0°< 6 < 80°

e_aafoémg%m‘_ri v CGJJSEI a)€1)ed

Options:

5 o 437

Question Number : 74 Question Id : 47163920546 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
Iftan (A+B)=vV3and tan (A—B) = % 0°< A+ B < 90°then A is equal to

v
Options:
3. ¢ 45°

Question Number : 74 Question Id : 47163920546 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
tan (A+B) = V3. tan (A=B) = =, 0° <A+ B < 90° ©0NB 4 =
W

Options:
3 « 43°



Question Number : 75 Question Id : 47163920547 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
If Sin 3A = Cos (A - 26°), where 0° < 34 < 90° the value of Ais

Options:
o ot 29°

Question Number : 75 Question Id : 47163920547 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
0° < 34 < 90° @00a)C Sin 3A = Cos (A - 26°) esondd 4 CI0E) o)D)

eganeinod.

Options:

> o 29°

Question Number : 76 Question Id : 47163920548 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
1+tan®4 .

————1s equal to:
1+Cot34

Options:

i tan® A

Question Number : 76 Question Id : 47163920548 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
1+tan®4

= PaaERI00
i+Cot24 T Qj

Options:

i tan® A

Question Number : 77 Question Id : 47163920549 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

. tan@ Cotf : : ;
The value of + — Sec 0 Cosec 0 1s:
1—Cofd 1—-tanf
Options:
3.¢ 1

Question Number : 77 Question Id : 47163920549 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33



tand Cotd
+
1-Cotf 1—-tand

— Sech Cosech = e300

Options:

3.#’1

Question Number : 78 Question Id : 47163920550 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
Sind—25in@

——————— 15 equal to
2 Cos28—Cosh que

Options:
3 " tan 0

Question Number : 78 Question Id : 47163920550 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
Sinf—25in’@

2 Cos®8—Cosf DB
Options:
z " tan o

Question Number : 79 Question Id : 47163920551 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

The value of Sech Sec (90° - ) — tan6 - tan (90° - 6) 1s
Options:

1.¢ 0

Question Number : 79 Question Id : 47163920551 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
Sec@ Sec(90° - 8) —tand - tan (907 - 8) cO0E). Dewd e9:E008).

Options:
1.+ 0

Question Number : 80 Question Id : 47163920552 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

If V3 tan 6 = 1. the value of Sin%0 - Cos?8 is

Options:

4.¢ 2



Question Number : 80 Question Id : 47163920552 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

w,-@ tan B = 1 ea000éd Sin?0 - Cos20 cﬁnﬁpj eV e9ag)EBI00).
Options:

i
g E

Question Number : 81 Question Id : 47163920553 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

The locus of middle points of equal chords of a circle 1s:

Options:

TS smaller circle

Question Number : 81 Question Id : 47163920553 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
R ePfe (equal chords) a308), <y Docepe (middle points) O3208), DED (locus ) e9:3)€8000

Options:
P 2ss :i)él snedaa (a smaller circle)

Question Number : 82 Question Id : 47163920554 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
In a triangle ABC. AB=13cm. BC=84cm and CA=85cm. Then the triangle 1s

Options:
, right angled

Question Number : 82 Question Id : 47163920554 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
ed fzea0 ABC e5° AB=13 20.20., BC=84 2o.2n. Subajn CA=85 o.2o.

£952) Jc:J £5 £32i022500)

Options:

2 @ OB Emaw ded (right angled)

Question Number : 83 Question Id : 47163920555 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
In a triangle ABC. AB=AC and BD is perpendicular on AC. Then BC?=

Options:



o o 2ZAC.CD

Question Number : 83 Question Id : 47163920555 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
208 Gabasn ABC &° AB=AC 2nBain AC 206 eeedwn (perpendicular) BD. ey e BC? =

Options:
o o ZAC.CD

Question Number : 84 Question Id : 47163920556 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

The figure formed by angle bisectors of a rectangle 1s:

Options:

- « parallelogram

Question Number : 84 Question Id : 47163920556 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

&6 wesie (rectangle) ong), Emane avdaecd Ba (bisector) 0 Joyg esgyd e9:)eB006:

Options:

o o PITOBO S0 (parallelogram)

Question Number : 85 Question Id : 47163920557 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

From a point in the interior of an equilateral triangle. the perpendicular distances

of the sides are V3cm, 2v3cm, and 5v3cm. The perimeter of the triangle 1s:

Options:
> " 48em

Question Number : 85 Question Id : 47163920557 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
20€ P erET Seesan (equilateral triangle) e5°21e) 0Bdd (interior) Doy Jood Zherody eoe) AFdAL

—

(perpendicular distance) e v3 230. 5., 243 20. 5., 96050 543 0. S, es Szhes coton (perimeter)

ega b0l
Options:
o o 48 200



Question Number : 86 Question Id : 47163920558 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.33

In the adjoining figure AB is parallel to DC. area of A AOD = 4cm? and

area of A BCD = 7em?, then the area of A CDO is:

A 8

Options:
4 « 3em?

Question Number : 86 Question Id : 47163920558 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
DE) 0Dy eé*mé 5 AB es:058 DC & Haroaddaw, A AOD O30g), PEreHn 4 Becay) Mo. 2 Sobaiv A BCD GI08),

DFRaw 7 96062 Dodined. ond A CDO oing), drregan:

A !

Options:
4 & 39| o.20

Question Number : 87 Question Id : 47163920559 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

The length of canvas 1.1m wide required to build a conical tent of height 10.5m

and the floor area 346.5m? is:

Options:

3152
e 315y 2m

Question Number : 87 Question Id : 47163920559 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33



2,8 Foaw es5eGLy) (conical) rarcawsn (tent), o Jav 10.5 ?;ue.:ga e, S (floor) DTogEn 346.5 [0
€20 MHEPCAN JOMELLL, 1.1 M. Doy fo dorad (w8 DETD ) (canvas) Josd TFa) (wd

egadrateaEi0od).

Options:
1 o 315¢2 2o

Question Number : 88 Question Id : 47163920560 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

; ; : : - : : , . 22
A solid eylinder with radius of 7em has total surface area 440cm? Height of the cylinder is ( n——?1

Options:

_ 3em

x

Question Number : 88 Question Id : 47163920560 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
7 230.20 m@&gm (radius) e 2o e5%10 =22 {ﬁ%@é) (solid) Hroo (cylinder) G30g), Dooedo &HBSR (surface)

2TugHw 440 &3] |230.20. e2000: Do 30, B0 9 )E8006 (T{=%}:

Options:

Question Number : 89 Question Id : 47163920561 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

The radu of two cylinders are in the ratio 3:4 and their heights are in the ratio 7:8.

The ratio of their volumes 1s:
Options:
, o 63:128

Question Number : 89 Question Id : 47163920561 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
Bocw *n&mﬁw_m (cylinders) 308, D“?S.a"g.ﬂﬂ (radius) ew 3:4 :}:‘qﬁe_i?é*‘m. Tred etoen 7:8 I}‘i:lg@e_ﬁ@m &cﬁi&f’ Foih)

20 DB (volume) e 308, DS

Options:
o o 63:128

Question Number : 90 Question Id : 47163920562 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33



The ratio of areas of two triangles 1s 4:3 and the ratio of their heights 1s 3:4. then the ratio of their bases 1s:

Options:
5 o 16:9

Question Number : 90 Question Id : 47163920562 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
Tocd Gevere Prregmen 4:3 Diyde @, 576 Javen 3:4 NG S ad & T8 eoroan

(base) e o), DD

Options:
5 « 16:9

Question Number : 91 Question Id : 47163920563 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

; o 2 22
The surface area of a sphere 1s 432? em?Z. Its volume is (n=7):

Options:

1
905=cm?
gl 7

Question Number : 91 Question Id : 47163920563 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
4
452;zﬁ| |230.80. &Hdeer (surface) Do) ez (sphere) G308), ODDBATEIDD
32
(Volume) 20, 0e8000 {n:?]:

Options:

 905= 20| [20.50.
3¢ §

Question Number : 92 Question Id : 47163920564 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
A right triangle with sides 3em and 4em 1s made to revolve about its hypotenuse.

: : : 22
The surface area of the double cone. so formed. 1s (F?:I:
Options:
, 52.8cm?
4

Question Number : 92 Question Id : 47163920564 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33



3 250, 20, S0B0IL 4 Do, 0. ZWADLLNT (18 w8 eoe GBabaaw (right tiangle) &0 oD Sgaw (hypotenuse)

espdore Zavemo (revolve) Sodco o K}r:ﬁ‘:}ié @ Foawane (double cone) &hbaes

surface) DTOLED e9:5763008 m:z_?z:':

Options:
e, 52.8 ©||2o.20.

Question Number : 93 Question Id : 47163920565 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

ABCD 1n a trapezium with parallel sides AB=a cm and DC =b cm. E and F are the mid points of DA and
CB. The ratio of ar(ABFE) and ar(EFCD) 1s:

Options:
> o 3atb:at3b

Question Number : 93 Question Id : 47163920565 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
AB = a »o.50., 208030 DC = b 20.20. @930 arossd (parallel) zberen v dDAS € Haveo IO 20

(trapezium) &a&&. DA 508050 CB e 03108, 206 Docwan (midpoint) en E 208oiw F en e9o0 f:—.,ftub.

ABFE 208050 EFCD & r:ﬁméay 2T L) E};’qﬁg:g (ZFaptahlelal

Options:
5 o da+h:a+3b

Question Number : 94 Question Id : 47163920566 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
ABCD 1s a parallelogram in which BC 1s produced to E such that CE=BC. AE mtersects CD at F. If
ar(ADFB) = 3CM? . then ar(ABCD) is:

Options:
4 o 12cm?

Question Number : 94 Question Id : 47163920566 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
ABCD #0028 DaTroadd wedodnyo (parallelogram) &5° CE=BC eadiygestarre BC D E 506 Féhodardd. AE

2058 CD D F 5@ 6o (intersect) S0od. ADFB @@ 500 = 3 | [20.20.
esooad ABCD DTOLEHD =

Options:
4 o 12 ] [Do.0.



Question Number : 95 Question Id : 47163920567 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
Area of the circle that can be mseribed in a square of side 6em is

Options:

ol 9rem?2

Question Number : 95 Question Id : 47163920567 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

6 0. 2. weco (square) &° eosDaawn (inscribe) Hodrier a0 ohog), DFrwLH:

Options:

4 o 91| [Do.2o.

Question Number : 96 Question Id : 47163920568 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
An isosceles triangle ABC in which AB=AC=6cm is inscribed in a circle of radius 9cm.

then the area of the triangle 1s:
Options:

4  8V2 cm?

Question Number : 96 Question Id : 47163920568 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
9 230.5n. av;;f}vgo (10 28 Sy 5500 AB=AC=6 20.20. & ErdS 2 RanbgersTo (isosceles) Gabasn

evoddDesan (inscribe) DoeCHE. 9iNNED &3 ez DT efan

Options:

4 8Y2 3| [20.20.

Question Number : 97 Question Id : 47163920569 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

The area of the minor segment of a circle of radius 14em. when the angle of the corresponding sector i1s 60°. 15
Options:

49G 1 — V3)em?
. AN

Question Number : 97 Question Id : 47163920569 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33



14 220.20. T§go (o 2u¢ o’ Td Trarer erjoedo (sector) cdig), Erain 60° 000 &8 eaw

G30g), wnwdaraoco (minor-segment) GI0G). DTN 295000
Options:

49T — V3) o] 0. 0.

P

Question Number : 98 Question Id : 47163920570 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

A mason constructs a wall of dimension 270em X 300cm X 350cm with bricks each of size 22.5em X

= - . 1 . o 3
11.25¢m X 8.75cm and it 1s assumed that S space is covered by the mortar. Then the number of bricks used 1s:

Options:
o o 11200

Question Number : 98 Question Id : 47163920570 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
22.5 20.80. X 11.25 2o.ln. X 8.75 20.20. Hba0rmo (size) oo meng (brick) e eHdirfod) wd oo D ord

(mason) 270 20.50. X 300 20.50. X 350 20.50. D827 fe Fed DB 0B e F?c:ej*% D D0 Mgy (mortar)

aé;ta‘:-:) e2:508 om0, £952)C SPCLRIGLAY TRenSe) f—aoa){)

Options:
o of 11200

Question Number : 99 Question Id : 47163920571 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
Marbles of diameter 1.4cm are dropped into a cylindrical beaker of diameter 7em containing some water. The
number of marbles. which can raise the water level by 5.6em. 1s

Options:
1« 150

Question Number : 99 Question Id : 47163920571 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33
EXT= F%J}J"ﬂ”éﬁ Heco (cylindrical beaker) aoog), SrpRan 7 30.55., S0botn et Eosd Db &0 &. 1.4 230.50.

TRFRAD (R £ TeoN (marble) exz0 ;}fj;lde."ﬁi) es D 5 S Ha S0&AD (level) &5 5.6 20.5). & Docweron?

Options:
1 150

Question Number : 100 Question Id : 47163920572 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.33

A rocket 1s in the form of a right circular cylinder closed at the lower end and surmounted by a cone with the
same radius as that of cylinder. The diameter and height of the eylinder are 6em and 12em respectively. If the

slant height of the cone 1s Scm. the total surface area is:
Options:

2
5 o J6mem

Question Number : 100 Question Id : 47163920572 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.33

ol esTed ermeaw (Foe 3&@5‘;:3;} (rocket) 2.2 exoe) S5r=R0 DD DT Sob, Lol grrliehy Sradoiet:, duOoiL ure
TGPl Wl rgrdo (iU dozdad) w6880 (surmounted) o) @, QPRI Culy, gl 00N oo Seiorr 6
0.4, SDOOKL 12 Ro.&. domnaf) iy wrew oléh (slant height) 5 Ro.&. wowd Swee &DOSL Jrugdn

(total surface area) =
Options:

2 o 96 1t 5| 0. .



